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=) UPCOMING ONLINE BATCHES

02 NOV 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

02 NOV 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

November 2022

09 NOV 2022 16 NOV 2022 23 NOV 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

23 NOV 2022

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

30 NOV 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL
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TARGET MATHS- 25/25

Ques- 1 :-. If the HCF of 85 and 153 is expressible in the form of 85x - 153, then the
value of x 1s:

Ife 85 3T 153 FT HCF 85x - 153 o ®9 H oI [ohAT ST Hehdl 8, a1 x 1 HH 2
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TARGET MATHS- 25/25

Ques- 1 :-. If the HCF of 85 and 153 is expressible in the form of 85x - 153, then the
value of x 1s:
Ife 85 3T 153 FT HCF 85x - 153 o ®9 H oI [ohAT ST Hehdl 8, a1 x 1 HH 2

b) 5
c) 3
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Ques- 2 :-. A boat can cover 18 km downstream 1n 2 hours. If the speed of stream 1s 2
km/hr, then what 1s the speed of the boat in upstream?

Ueh 1 2 ElS W T oh 37fehet 18 fopeft sht gt o =t kel 21 fe emar shi wift 2 fepefiyeian
2, T &R o SfreRet ATel oAl T o/ &2

a) 8 km/hr
b) 5 km/hr
c) 6 km/hr
d) 7 km/h




TARGET MATHS- 25/25

Ques- 2 :-. A boat can cover 18 km downstream 1n 2 hours. If the speed of stream 1s 2

km/hr, then what 1s the speed of the boat in upstream?

Ueh 1 2 ElS W T oh 37fehet 18 fopeft sht gt o =t kel 21 fe emar shi wift 2 fepefiyeian
2, T &R o SfreRet ATel oAl T o/ &2

a) 8 km/hr

c) 6 km/hr
d) 7 km/h
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Ques- 3 :-. In a triangle ABC, G 1s the centroid of ABC and BM is median and
Z/ ABM =30° and AG L BM. If GM = \/3 ¢m then find the length of AB.

Geh ST ABC H, G, ABC %1 5eh & 3T BM HIfRh! & 3 LABM = 30° 3R AG L
BM%I?J]%GM \/3ﬁﬁ?ﬁABoh|cf|®ns;ud?ﬁﬁrQI

a) 2cm
b) 4cm

C) 4\/3 cm
d) Scm
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Ques- 3 :-. In a triangle ABC, G 1s the centroid of ABC and BM is median and
Z/ ABM =30° and AG L BM. If GM = \/3 ¢m then find the length of AB.

Geh ST ABC H, G, ABC %1 5eh & 3T BM HIfRh! & 3 LABM = 30° 3R AG L
BM%I?J]%GM \/3ﬁﬁ?ﬁABoh|cf|®ns;ud?ﬁﬁrQI

a) 2cm

C) 4\/3 cm
d) Scm
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Ques- 4 :-What 1s the value of x, 1f — 3 X \/196+ \/X: 8 x3—-27
x FTAFFE, AR 3 x V196 + Vx =8 x 3 — 22

a) 4096
b) 135
c) 1064
d) 128



TARGET MATHS- 25/25

Ques- 4 :-What 1s the value of x, 1f — 3 X \/196+ \/X: 8 x3—-27
x FTAFFE, AR 3 x V196 + Vx =8 x 3 — 22

b) 135
c) 1064
d) 128



TARGET MATHS- 25/25

Ques- 5 :-. A number will become 127% of itself when 54 is added to the existing
number. Find the value of the number ?

Ueh AT HISIAT €T H 54 e W &4 i 127% 1 STUr| &7 1 T 1 hIfSY)

a) 54

b) 108
c) 127
d) 200




TARGET MATHS- 25/25

Ques- 5 :-. A number will become 127% of itself when 54 is added to the existing
number. Find the value of the number ?

Ueh AT HISIAT €T H 54 e W &4 i 127% 1 STUr| &7 1 T 1 hIfSY)

a) 54
b) 108
c) 127




TARGET MATHS- 25/25

Ques- 6 :-. If A's height 1s 25% less than that of B, then how much percent 1s B's
height more than that of A?

Ife A T FATE B ¥ 25% FH 2, d B shl Sa1s A § fohde afdera stferes 22

a) 50%
b) 45%

c) 22.5%
d) 33.33%




TARGET MATHS- 25/25

Ques- 6 :-. If A's height 1s 25% less than that of B, then how much percent 1s B's
height more than that of A?

Ife A T FATE B ¥ 25% FH 2, d B shl Sa1s A § fohde afdera stferes 22

a) 50%
b) 45%
c) 22.5%




TARGET MATHS- 25/25

Ques- 7 :-. A sector of a circle has a radius of 18 cm and a central angle of 125°.
What will be its approximate perimeter?

T I oh Uoh SIS sl AT 18 HHT 3 Shai hivr 125° B $HehT IHHTT THTHT 1
T

a) 73.85cm
b) 74 cm

c) 753 cm
d) 73 cm




TARGET MATHS- 25/25

Ques- 7 :-. A sector of a circle has a radius of 18 cm and a central angle of 125°.
What will be its approximate perimeter?

T I oh Uoh SIS sl AT 18 HHT 3 Shai hivr 125° B $HehT IHHTT THTHT 1
T

a) 73.85cm
b) 74 cm

d) 73 cm
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2 1 3
Ques- 8 :-. The descending order of =, —, and = 1s:
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TARGET MATHS- 25/25

Ques- 9 :-. The radius of circle A 1s 5 cm. Circle A touches circle B externally. The
distance between the center of the two circles 1s 8 cm. Find the radius of the Circle
B.

I A I s 5 Ot 81 99 A, I B 1 STel €9 H T AT €| ST I o oh oh s
shl il 8 Wt 21 3 B Al e 91t =hifs)

a) 3cm

b) Scm

c) 13cm

d) 15cm



TARGET MATHS- 25/25

Ques- 9 :-. The radius of circle A 1s 5 cm. Circle A touches circle B externally. The
distance between the center of the two circles 1s 8 cm. Find the radius of the Circle

B.
I A I s 5 Wt 81 99 A, I B ol STeI €9 H TR AT ¢l ST IT o h oh sl

=l Ui 8 BT 81 o B Al ST T shifsTay

b) Scm
c) 13cm

d) 15cm
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Ques- 10 :-. Find the perimeter of rectangle if 1t's length 1s 160 m and it's diagonal
is 200 m ?
T T TRATT T SIS TS SHhT TalTs 160 HieT & 3T 38T forahof 200 Hrex 2

a) 460 m
b) 120 m
c) 560 m
d) 420 m




TARGET MATHS- 25/25

Ques- 10 :-. Find the perimeter of rectangle if 1t's length 1s 160 m and it's diagonal
is 200 m ?
T T TRATT T SIS TS SHhT TalTs 160 HieT & 3T 38T forahof 200 Hrex 2

a) 460 m
b) 120 m

d) 420m



TARGET MATHS- 25/25

Ques- 11:- What is the value of sin(48° + 0) — cos(42° — 0)?
sin(48°+ 0) - cos(42° - 0) T 7 T 82

a) 2
b) 1
c) -1
d 0
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Ques- 11:- What is the value of sin(48° + 0) — cos(42° — 0)?
sin(48°+ 0) - cos(42° - 0) T 7 T 82

a) 2
b) 1
c) -1
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Ques- 12:- A solid cylinder has a radius of 9 cm and a height of 25 cm. What 1s the
ratio of its total surface area to its curved surface area?

Teh 319 S shl B 9 Gt 3 et 25 |l 21 3o el IEIT &%t o1 a3k 81
& | ST TohaT &7

a) 9:25
b) 25:9
c) 25:34
d) 34:25
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Ques- 12:- A solid cylinder has a radius of 9 cm and a height of 25 cm. What 1s the
ratio of its total surface area to its curved surface area?

Teh 319 S shl B 9 Gt 3 et 25 |l 21 3o el IEIT &%t o1 a3k 81
& | ST TohaT &7

a) 9:25
b) 25:9
c) 25:34
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1 1
Ques- 13:- if Xty =5 then find the value of X*+ P ?

a) 22
b) 10
c) 20
d) 23
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1 1
Ques- 13:- if Xty =5 then find the value of X*+ P ?

a) 22
b) 10
c) 20



TARGET MATHS- 25/25

Ques- 14:- The sum of two numbers 1s 48 and product of two numbers 1s 18 find
the sum of their squares

31 HEATSAT T ANT 48 & N a1 HEATAT T IR 18 B, 39k 711 BT AN JT hITSI

a) 2261
b) 2357
c) 2268
d) 1237




TARGET MATHS- 25/25

Ques- 14:- The sum of two numbers 1s 48 and product of two numbers 1s 18 find
the sum of their squares

31 HEATSAT T ANT 48 & N a1 HEATAT T IR 18 B, 39k 711 BT AN JT hITSI

a) 2261
b) 2357

d) 1237
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Ques- 15:- Ifa+b=34,and a—b =18 Then, the value of 4a* + 4b*
Ifga+b=234,3MNa-b=18d4a>+ 4L’ HT AT :

1S :

2690
2960
2340
3420
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Ques- 15:- Ifa+b=234,and a—b =18 Then, the value of 4a*+ 4b?* is:
Ifga+b=234,3MNa-b=18d4a>+ 4L’ HT AT :

a) 2690

c) 2340
d) 3420
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Directions (Q. 16-20): Study the following table and answer the questions that follow:

Following pie chart shows the percentage distribution of tourist from USA, Canada and England went for different
cities.

freaferfan urd o & waww Tea STATERT, FHATST AR FTeis | et T Ufavrd forawur uaT SIerr § S STeT-3TenT wEkl § T A

Total tourist from
USA = 2500

Total tourists from USA
Canada and England = 5500

E
22%
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Q.16:- Find the central angle of E of the total tourists?

ot et § & E T 3wt 0T e B

(A)132.60°
(B)122.40°
(©)108.20°
(D)144.80°

Total tourists from USA
Canada and England = 5500

Total tourist from
USA = 2500




TARGET MATHS- 25/25

Q.16:- Find the central angle of E of the total tourists?

ot el § & E T S o i i

Total tourists from USA Total tourist from
Canada and England = 5500 USA = 2500

(A)132.60°

(C)108.20"
(D)144.80°
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Q.17:- In tourists from city A, in which Canada tourists are 120
more than that of tourists from England. Then find the number of
tourists from Canada in city A?

TR A & wdent J, Rred waret & wew g & udesmt s gt 7 120 eifess #)
AT 912X A W SHATST © Ueehl shl WEAT AT hifoT?

Total tourists from USA Total tourist from
Canada and England = 5500 USA = 2500

INYZ
(B)190
(C)210
(D)280




TARGET MATHS- 25/25

Q.17:- In tourists from city A, in which Canada tourists are 120
more than that of tourists from England. Then find the number of
tourists from Canada in city A?

TR A & wdent J, Rred waret & wew g & udesmt s gt 7 120 eifess #)
AT 912X A W SHATST © Ueehl shl WEAT AT hifoT?

Total tourists from USA Total tourist from
Canada and England = 5500 USA = 2500

INYZ
(B)190
(C)210
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Q.18:-Find the difference between the total number of tourists from Canada and England in
city E with the total number of tourists from Canada and England 1 city D?

e E | TSt SR Steis o waeehi i el HEAT TR I D H 1Sl 3R gicd o Wl i

el G o Sl 3T AL 1 shiloe?

Total tourists from USA Total tourist from

Canada and England = 5500 USA = 2500
(A)890 )
(B)780 22
(C)1060

(DY920
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Q.18:-Find the difference between the total number of tourists from Canada and England in
city E with the total number of tourists from Canada and England 1 city D?

e E | TSt SR Steis o waeehi i el HEAT TR I D H 1Sl 3R gicd o Wl i

el G o Sl 3T AL 1 shiloe?

Total tourists from USA Total tourist from
Canada and England = 5500 USA = 2500
A
0,
(B)780 —
(C)1060

(D)920
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Q.19:- Find the ratio of total number of USA tourists from city B to that of total number of
tourists from city D?

TR B § HIh UST ITHIERT o TUEHI shi el SEAT T X D H THSHI ohl Shed FEAT § AT
1 Shifea?

Total tourists from USA Total tourist from
Canada and England = 5500 USA = 2500
(A)11:17 A
229
(B)23:14 -
(C)15:22

(D)35:19
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Q.19:- Find the ratio of total number of USA tourists from city B to that of total number of

tourists from city D?

TR B § HIh UST ITHIERT o TUEHI shi el SEAT T X D H THSHI ohl Shed FEAT § AT
1 Shifea?

Total tourists from USA Total tourist from

Canada and England = 5500 USA = 2500

(A)11:17 A
22%
(B)23:14 °

(D)35:19




TARGET MATHS- 25/25

Q.20:- If the total number of male to that of female tourists from Canada and England in city
C 1s 3: 2, then find the number of male tourists from Canada and England 1n city C?

e R C T FATST AR §ieie § AT T6Y Geohi ol it dear 3:2 &, A I C F FeT AR el § 1Y
&Y AT shl HEAT JTd hilSIL?

Total tourists from USA Total tourist from
Canada and England = 5500 USA = 2500

A
22%

(A)174
(B)186
(C)192
(D)195
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